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^10& ,ize;j fzpjk;

tpdhj;jhspd; fl;likg;G

tpdhj;jhs; I 	-	 Neuk; : 03 kzpj;jpahyk; (Nkyjpf thrpg;G Neuk; 10 epkplk;)
		  ,t;tpdhj;jhs; ,U gFjpfisf; nfhz;Ls;sJ.

gFjp A  : 		 gj;J tpdhf;fs;. vy;yh tpdhf;fSf;Fk; tpil vOj Ntz;Lk;.

xt;nthU tpdhTf;Fk; 25 Gs;spfs; tPjk; 250 Gs;spfs;.

gFjp B  :		  VO tpdhf;fs;. Ie;J tpdhf;fSf;F tpil vOj Ntz;Lk;. 

xt;nthU tpdhTf;Fk; 150 Gs;spfs; tPjk; 750 Gs;spfs;.

		  tpdhj;jhs; I ,w;F nkhj;jg; Gs;spfs;  1000 ÷ 10  = 100.

tpdhj;jhs; II 	-	 Neuk; : 03 kzpj;jpahyk; (Nkyjpf thrpg;G Neuk; 10 epkplk;)
		  ,t;tpdhj;jhs; ,U gFjpfisf; nfhz;Ls;sJ.

gFjp A  	 : 	 gj;J tpdhf;fs;. vy;yh tpdhf;fSf;Fk; tpil vOj Ntz;Lk;. 

xt;nthU tpdhTf;Fk; 25 Gs;spfs; tPjk; 250 Gs;spfs;.

gFjp B  	 : 	 VO tpdhf;fs;. Ie;J tpdhf;fSf;F tpil vOj Ntz;Lk;. 

xt;nthU tpdhTf;Fk; 150 Gs;spfs; tPjk; 750 Gs;spfs;.

		  tpdhj;jhs; II ,w;F nkhj;jg; Gs;spfs;  1000 ÷ 10  = 100.

,Wjpg; Gs;spfisf; fzpj;jy; ( 		 tpdhj;jhs; I   	 = 	 100 
		  tpdhj;jhs; II    	 =    	 100
					            ,Wjpg; Gs;spfs;   	    =     200 ÷ 2   =  100	
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(10) ,ize;j fzpjk; 
tpdhj;jhs; I 

gFjp A 

1.	 fzpjj; njhFj;jwpTf; Nfhl;ghl;ilg; gad;gLj;jp> vy;yh n ∈ Z
+ 
,w;Fk; 6n 

− 1 MdJ 5 ,dhy; 
tFgLnkd epWTf.
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.............................................................................................................................................................

2.	 rkdpyp 2  x − 3  ≤ 2 + x  Ij; jpUg;jpahf;Fk; x ,d; vy;yh nka;g; ngWkhdq;fspdJk; njhiliaf;  
fhz;f. 

	 ,jpypUe;J> 2   x + 3  ≤ 2 − x Ij; jPu;f;f.
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3.	 Xu; Mfz; tupg;glj;jpy;  z − i  ≤ 1> π
4

 ≤ Arg (z − i) ≤ 3π
 4

 vd;Dk; epge;jidfisj; jpUg;jpahf;Fk; 

rpf;fnyz;fs; z  I tifFwpf;Fk; gpuNjrk; R   I epow;Wf. 
	 gpuNjrk;  R ,y; z ,w;F Re z + Im z ,d; cau;e;jgl;rg; ngWkhdj;ij vOJf. 
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.............................................................................................................................................................

4.	  1
6

 lim 
x → 0 x 

2

[(8 + x) sin 2x       
1
3

− 2]       =   vdf; fhl;Lf.
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5.	 ePs;tisak; +  x2

16
 y2

 9
= 1  ,w;Fg; Gs;sp P ≡ (4 cos θ, 3 sin θ) ,y; tiuag;gLk; njhlypapd; rkd;ghL 

x
4

 cos θ  +  y
3

 sin θ = 1 vdf; fhl;Lf. 

Nkw;Fwpj;j ePs;tisaj;jpw;F P ,y; tiuag;gLk; nrt;td; Gs;sp (0,     7
6

)−  ,D}lhfr; nry;yj;jf;fjhf 

θ  (0 < θ <  π
2

) ,d; ngWkhdj;ijf; fhz;f.
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6.	 x If; Fwpj;J  [ [
5
3

4
3

tantan−1 (   ) + x
2

 I tifapLf. ,jpypUe;J> ∫       dx 
5 + 4 sin x

 If; fhz;f.
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7.	 tisap  y =    x
√ x2+9

, Neu;NfhL x = 3, x− mr;R Mfpatw;wpdhy; tiug;Gw;w gpuNjrk; S vdf; nfhs;Nthk; 

(cUitg; ghu;f;f). S I x− mr;irg; gw;wp 2π MiuadpD}lhfr; Row;Wk;NghJ gpwg;gpf;fg;gLk; 

jpz;kj;jpd; fdtsT 3π (1        )     −   π4     
 vdf; fhl;Lf.

	
		

3

S

x

y
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8.	 Gs;sp (2, 1) ,D}lhfr; nry;Yk; xU khWk; Neu;NfhL x− mr;irAk; y− mr;irAk; KiwNa P, Q vd;Dk; 

Gs;spfspw; re;jpf;fpd;wJ. PQ ,d; eLg; Gs;sp  R MFk;. Gs;sp R MdJ tisap x + 2y = 2xy kPJ 
fplf;fpd;wnjdf; fhl;Lf.
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9.	 (0, 0)> (0, 2) vd;Dk; Gs;spfspD}lhfr; nry;tJk; tl;lk;  x2 + y2  − 2x + 4y − 6 = 0 ,d; gupjpia 
,U$wpLtJkhd tl;lj;jpd; rkd;ghl;ilf; fhz;f. 
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10.	  √3 cos x − sin x I tbtk; R cos (x+α) ,y; vLj;Jiuf;f; ,q;F R > 0 ck; 0 < α < π
2

 ck; MFk;.

	 ,jpypUe;J>  √3 cos 2x − sin 2x + 1 = 0 Ij; jPu;f;f.
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gFjp B

11. 	(a)	 a> b Mfpad ,U NtWNtwhd nka;naz;fnsdf; nfhs;Nthk;. rkd;ghL x2  + 2bx +2ab = a2

	 ,d; %yq;fs; nka;ahditAk; NtWNtwhditAkhFk; vdf; fhl;Lf.  
	a ≠ 2b  MfTk; a  ≠ 0 MfTk; ,Ue;jhy; - ,Ue;jhy; khj;jpuk; Nkw;Fwpj;j rkd;ghl;bd; %yq;fs; 

α> β Mfpa ,uz;Lk; G+r;rpakw;wd vdf; fhl;Lf. 
	,g;NghJ a ≠ 2b vdTk; a ≠ 0 vdTk; nfhs;Nthk;. α

β
> β

α
 Mfpatw;iw %yq;fshff; nfhz;l 

,Ugbr; rkd;ghl;ilf; fhz;f. 

(b)	 f (x) vd;gJ 2 ,Yk; $ba gbiaf; nfhz;l xU gy;YWg;gp vdTk; p, q  Mfpad NtWNtwhd 

nka;naz;fs; vdTk; nfhs;Nthk;. kPjpj; Njw;wj;ij ,U jlit gpuNahfpg;gjd; %yk;  f (x)  

MdJ (x − p) (x − q) ,dhy; tFf;fg;gLk;NghJ kPjp  f (q) − f (p)
    q − p

(x − p) + f (p) vdf; fhl;Lf. 
	

	 g(x) = x3 + ax2 + bx + 1 vdf; nfhs;Nthk;;  ,q;F  a, b ∈ IR MFk;. g(x) MdJ (x − 2) ,dhy; 

tFf;fg;gLk;NghJ cs;s kPjp>  g(x) MdJ (x − 1) ,dhy;  tFf;fg;gLk;NghJ cs;s kPjpapd; 

Kk;klq;F vdTk; g(x) MdJ (x − 1) (x − 2) ,dhy; tFf;fg;gLk;NghJ cs;s kPjp kx + 5 vdTk; 

jug;gl;Ls;sJ; ,q;F k ∈ IR MFk;. a, b> k Mfpatw;wpd; ngWkhdq;fisf; fhz;f.

	

12. 	(a)	 (1 + x)2 (2x2 −      )10
 1
2x

,d; tpupapy; x  Ir; rhuhj cWg;G −15 vdf; fhl;Lf. 

(b)	 ntt;NtW nraw;wpwd; rhjidfisf; nfhz;l  8 FWfpa J}u Xl;l tPuu;fspypUe;J 4 Xl;l 
tPuu;fisf; nfhz;l Xu; mQ;rNyhl;lf; FOitj; njupe;njLf;f Ntz;bAs;sJ. mtu;fspy; Fiwe;j 

jpwidf; fhl;bAs;s tpisahl;L tPuu; njupe;njLf;fg;gl;lhy;> $Ljyhd jpwidf; fhl;bAs;s 

tpisahl;L tPuUk; njupe;njLf;fg;gLthu;; Mdhy; Fiwe;j jpwidf; fhl;bAs;s tpisahl;L tPuu; 

njupe;njLf;fg;glhky; $Ljyhd jpwidf; fhl;bAs;s tpisahl;L tPuu; njupe;njLf;fg;glyhk;. 

,t;thW Mf;fg;glj;jf;f ntt;NtW mQ;rNyhl;lf; FOf;fspd; vz;zpf;ifiaf; fhz;f. 

(c)	 r ∈ Z
+ 
,w;F ur  = 

(r + 1)2  (r + 2)2

2r2 − 5   vdTk;  f (r) = 
λ r + μ
(r + 1)2

 vdTk; nfhs;Nthk;; ,q;F λ> μ Mfpad 

nka;k; khwpypfs;. r ∈ Z
+ 
,w;F ur = f (r) − f (r + 1) Mf ,Uf;fj;jf;fjhf λ > μ Mfpatw;wpd; 

ngWkhdq;fisf; fhz;f. 

	 n ∈ Z
+ 
,w;F Sn = Σ 

r = 1

n  
ur  vdf; nfhs;Nthk;. n ∈ Z

+
  ,w;F Sn = 1

4
− (2n + 1)

(n + 2)2  
 vdf; fhl;Lf.

	 Kbtpy; njhlu;  Σ 
r = 1

∞ 
ur   xUq;Ffpd;wnjd ca;j;jwpe;J> mjd; $l;Lj;njhifiaf; fhz;f..  

13. (a)	 a, b, c ∈ IR vdf; nfhs;Nthk;;. mj;Jld;,  A  = ( )1    2     1
a    3   −1                            ,  B = ( )2    b     1

b   1     c              > C = ( )                                                      c   2a + c
1        b       

vdTk; nfhs;Nthk;. 

		  ABT = C Mf ,Uf;fj;jf;fjhf a, b> c Mfpatw;wpd; ngWkhdq;fisf; fhz;f. 

		  a, b> c Mfpatw;wpd; ,g;ngWkhdq;fSf;F (CT)
−1
 
If; fz;L> ,jpypUe;J> C

−1 P CT = 5C Mf 

,Uf;fj;jf;fjhfj; jhak; P If; fhz;f. 
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(b)	 xU Neu; KOntz; Rl;bf;fhd j Nkha;tupd; Njw;wj;ijg; gad;gLj;jp z = cos  θ + i sin θ vdpd;> 

z−n = cos nθ − i sin nθ  vdf; fhl;Lf ; ,q;F θ ∈ IR ck; n ∈ Z
+ 
ck; MFk;.

	  √3 −1+ i > √3  + i   vd;Dk; rpf;fnyz;fs; xt;nthd;iwAk; tbtk; r(cos θ + i sin θ ) ,y; 

vLj;Jiuf;f; ,q;F r > 0 ck; −π < θ  ≤ π  ck; MFk;. 

	 m, n ∈ Z
+ 
vdf; nfhs;Nthk;. 

(−1+ i√3 )n 

(√ 3 + i)m 
= 8 vdpd;> n = m + 3 vdTk; n = 4k−1 vdTk; fhl;Lf ; 

,q;F k ∈ Z
 
.

14. (a)	 x ≠ −2 ,w;F  f (x) = 
 (x + 1)
 (x + 2)2

 
 vdf; nfhs;Nthk;.  f (x)  ,d; ngWjp f ʹ(x) MdJ x  ≠ −2     ,w;F 

		  f ʹ(x) =    − x
 (x + 2)3

 
  ,dhy; jug;gLfpd;wnjdf; fhl;Lf. 

x  ≠ −2 ,w;F    ́ʹf (x) = 2(x − 1) 
(x + 2)4

 
  vdj; jug;gl;Ls;sJ; ,q;F    ́ʹf (x) MdJ f (x) ,d; ,uz;lhk; ngWjpiaf; 

Fwpf;fpd;wJ.

mZFNfhLfs;> jpUk;gw; Gs;sp> tpgj;jpg; Gs;sp Mfpatw;iwf; fhl;b y = f(x) ,d; tiuigg; 

gUk;gbahf tiuf.

(b)	 xU fl;llj;jpd; xU epiyf;Fj;Jr; RtupypUe;J 27 m  J}uj;jpy; 

8m cauKs;s xU Ntyp cs;sJ.  cUtpy; fhl;lg;gl;Ls;sthW 

Xu; Vzp mjd; fPo; Kid fpilj; jiu kPJ ,Uf;FkhW Ntypf;F 

kl;Lkl;lhf NkNy nrd;W> Rtiu milAkhW itf;fg;gl;Ls;sJ. 

Vzpapd; ePsk; y m vdTk; Vzp fpilAld; Mf;Fk; Nfhzk; θ  

vdTk; nfhs;Nthk;. y I θ  ,d; xU rhu;ghf vLj;Jiuf;f.                                        

		 θ = tan−1 2
3( ) Mf ,Ue;jhy; - ,Ue;jhy; khj;jpuk; dy

dθ
=  0 vdf; fhl;Lf.

   	 cupa Mapilfspy; dy
dθ

,d; Fwpiaf; fUJtjd; %yk; kpff; FWfpa mj;jifa Vzpapd; 

ePsj;ijf; fhz;f.  

15. 	(a)	 gFjpg; gpd;dq;fisf; nfhz;L 
          4
(x − 1) (x + 1)2

I vLj;Jiuf;f. 

		
		  ,jpypUe;J> ∫             1(1 − e−x) (1 + ex)2

dx If; fhz;f.

(b)	 gFjpfshfj; njhifapliyg; gad;gLj;jp  ∫ x2 (sin x + 2 cos x) dx        If; fhz;f.

		

(c)  #j;jpuk;  
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14. (a) Let f(x) = 
 (x + 1)
 (x + 2)2

 
 for x ≠ −2. Show that f ́ (x), the derivative of f(x), is given by f ́ (x) =    − x

 (x + 2)3
 
 

 for x  ≠ −2. 

 It is given  that    ́ʹf (x) = 2(x − 1) 
(x + 2)4

 
  for  x  ≠ −2, where    ́ʹf (x) denotes the second derivative of f (x).

 Sketch the graph of y = f(x) indicating the asymptotes, turning point and the point of inflection. 

     (b) A fence, 8 m tall, is at a distance of 27 m from a vertical  wall of a building. A ladder with its 
  lower end on the horizontal ground goes just over the fence and reaches the wall as shown 

  in the figure. Let y m be the length of the ladder and θ  be the angle it makes with the 

  horizontal. Express y as a function of θ.                                        

  Show that dy
dθ

= 0 if and only if θ = tan−1 2
3( ). 

  By considering the sign of dy
dθ

in appropriate intervals, find the 

  length of the shortest such ladder.  

15. (a) Express 
          4
(x − 1) (x + 1)2

in partial fractions. 

  Hence, find  ∫             1(1 − e−x) (1 + ex)2
dx.

     (b) Using integration by parts, find  ∫ x2 (sin x + 2 cos x) dx.

  
     (c)     Establish the formula ∫ ∫ 

π π

0 0

x  f (sin x) dx =  f (sin x) dx. π
2

   
  Hence, show that ∫ 

π

0

 x  sin x    
 (2 − sin2x)  

π2

4
dx =      .

16. Let A ≡ (−1, 1) and l be the straight line given by  x + y  = 7. Find the coordinates of the points 

 B and C on l such that ABC
∧

 = ACB 
∧

 = tan−1 (7). 

  Also, find the equation of the bisector m of the angle  BAC 
∧

.

 Write down the equation of the circle with BC as a diameter and hence write down the equation

 of any circle through B and C in terms of a parameter. 

       Deduce the equation of the circle S that passes through the points  A, B and C' 

 Also, find the coordinates of the points of intersection, of the circle S and the straight line m. 
 

R

y m

θ
8 m 

  27 m

 I epWTf.

			 
		

		  ,jpypUe;J> ∫ 
π

0

x sin x    
 (2 − sin2x)  

π2

4
dx =       vdf; fhl;Lf.

R
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14. (a) x  ≠ −2 i|yd f (x) =  (x + 1)
 (x + 2)2

 
  hehs .ksuq' f (x) ys jHq;amkakh jQQ f ʹ(x) hkak x  ≠ −2 i|yd 

 f ʹ(x) =    − x
 (x + 2)3

 
  u.ska fokq ,nk nj fmkajkak'  

 x  ≠ −2 i|yd   ́ʹf (x) = 2(x − 1) 
(x + 2)4

 
  nj ° we;; fuys    ́ʹf (x) u.ska f(x) ys fofjks jHq;amkakh olajhs' 

 iamr®fYdakauqL" yereï ,laIHh yd k;sjr®;k ,laIHh olajñka y = f (x) ys m%ia;drfha o< igykla 

 w|skak' 

     (b) f.dvke.s,a,l isria ì;a;shl isg 27 m  ≥rlska" 8 m la Wi jegla we;' rEmfha olajd we;s m˙†" 

  bKsu.la tys my< fl<jr ;sria fmdf<dj u; we;sj jegg hka;ï by<ska f.dia ì;a;sh lrd <`.d

  fõ' bKsuf.ys †. y m hehs o bKsu. ;sri iuÛ idok fldaKh θ  hehs o .ksuq' y hkak θ  ys 

  Y%%s;hla f,i m%%ldY lrkak'                 

y m

θ
8 m 

  27 m

  

                                           

  
dy
dθ

=  0  jkafka θ = tan−1 2
3( ) u kï muKla nj fmkajkak'

  iq≥iq m%%dka;r;=< dy
dθ

ys ,l=K ie,lSfuka" flá;u tjka 

  bKsuf.ys †. fidhkak'

15. (a) Nskak Nd. weiqfrka 
          4
(x − 1) (x + 1)2

hkak m%%ldY lrkak' 

  ta khskaa" ∫             1(1 − e−x) (1 + ex) 2
dx fidhkak' 

     (b) fldgia jYfhka wkql,kh Ndú;fhka ∫ x2 (sinx + 2cosx) dx  fidhkak'

  
      (c)    ∫ ∫ 

π π

0 0

x  f (sin x) dx =  f (sin x) dxπ
2

iQQ;%%h msysgqjkak' 

  ta khska" ∫ 
π

0

 x  sin x    
 (2 − sin2x)  

π2

4
dx =  nj fmkajkak' 

16.  A ≡ (−1, 1) hehs o l hkq  x + y  = 7 u.ska fokq ,nk ir, fr®Ldj hehs o .ksuq'

 ABC
∧

 = ACB 
∧

 = tan−1(7) jk m˙† l u; jQQ B yd C ,laIHj, LKavdxl fidhkak' 

 ;jo BAC 
∧

fldaKfhys iuÉf√olh jk m ys iólrKh fidhkak' 

 BC úIalïNhla f,i jQQ jD;a;fhys iólrKh ,shd olajd ta khska B yd C yryd hk ´kEu 

 jD;a;hl iólrKh mrdñ;shla weiqfrka ,shd olajkak' 

      A, B yd C ,laIHh yryd hk S jD;a;fhys iólrKh wfmdaykh lrkak' 

 S jD;a;fha yd m ir, fr®Ldfõ f√ok ,laIHj, LKavdxl o fidhkak' 
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16.	 A ≡ (−1, 1) vdTk; l MdJ  x + y  = 7 ,dhy; jug;gLk; Neu;NfhL vdTk; nfhs;Nthk;.

	 ABC
∧

 = ACB 
∧

 = tan−1 (7) MFkhW l kPJ cs;s B> C Mfpa Gs;spfspd; Ms;$Wfisf; fhz;f. 

	 NkYk; BAC 
∧

,d; ,U$whf;fp m ,d; rkd;ghl;ilf; fhz;f.

	 BC I xU tpl;lkhff; nfhz;l tl;lj;jpd; rkd;ghl;bid vOjp> mjpypUe;J, B> C Mfpatw;wpD}lhfr; 

nry;Yk; ve;j tl;lj;jpdJk; rkd;ghl;bid xU gukhdj;jpd; rhu;ghf vOJf.

      	A, B> C Mfpa Gs;spfspD}lhfr; nry;Yk; tl;lk; S ,d; rkd;ghl;bid ca;j;jwpf.

	 tl;lk; S ,dJk; Neu;NfhL m ,dJk; ntl;Lg; Gs;spfspd; Ms;$WfisAk; fhz;f.

 

17. 	(a)	 cos3x cos 3x + sin3x sin 3x = cos3 2x vdf; fhl;Lf.

	 	 ,jpypUe;J>  8 (cos3 x cos 3x + sin3 x sin 3x) = 1 Ij; jPu;f;f.

(b)	 ABC xU Kf;Nfhzpnadf; nfhs;Nthk;. BC   kPJ D> E vd;Dk; Gs;spfs;  BD : DE : EC = 1 : 2 : 3 Mf 

,Uf;fj;jf;fjhf vLf;fg;gl;Ls;sd. mj;Jld; BAD^ = α, DAE^ = β,  EAC^ =  γ  vdTk; nfhs;Nthk;. jFe;j 

Kf;NfhzpfSf;Fr; ird; newpiag; gad;gLj;jp sin(α + β) sin(β + γ) = 5 sinα  sin γ  vdf; fhl;Lf.

(c)	   x  ≤ 1,  y  ≤ 1,  z  ≤ 1 vdf; nfhs;Nthk;. sin−1 x + sin−1 y + sin−1 z = π vdpd;>  

		   x√ 1 − x2  + y√ 1 − y2 + z √ 1 − z2  = 2xyz vdf; fhl;Lf.

*  *  * 
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G.C.E.(A.L.) Examinations - Prototype questions for examinations from 2019 and onwards - Combined Mathematics 

8 proof 2018.07.06

Combined Mathematics 
Paper II 
Part A 

1. Two particles of masses m and λm move towards each other on a smooth horizontal table with speeds 

 u and 

PII 

Part A 

1.  Two particles of masses m and km, respectively move towards each other on a smooth 

horizontal table with speeds u and 
3
2u

 respectively. Given that the particles move with equal 

speeds 
2

u
away from each other after their direct impact, show that the coefficient of 

restitution is 
5

3
, and that the value of  k is 

7
9

. 

2.  A particle of mass m kg rests on a rough horizontal table. It is connected by a light 

inextensible sting which is perpendicular to the edge of the table and which passes over a 

small smooth pulley fixed at the edge of the table, to a particle of mass 2m which hangs 

freely under gravity. The coefficient of friction between the mass m and the table is 
4
1

. Show 

that the tension in the string as the system starts from rest, is mg
6

5
. 

 

3.    A light rod AB has two particles of masses m and 2m, respectively attached to the two ends  

A and B. The rod is held at rest in a horizontal position with its middle point C smoothly 

hinged to a fixed point, and the rod then moves in a vertical plane making an angle q  with 

the horizontal at time t. Using the principle of conservation of energy, show that the angular 

speed of the rod is given by 
a

g
dt
d

3
sin2 qq

= . 

 

4.    Two cars A and B move along a straight road in parallel lanes in the same direction. At time 

,0=t  the speeds of A and B are u and ,
4
u

 respectively. The car A moves with the same 

constant speed u and the car B moves with constant acceleration  until it reaches the speed 

4
5u

 
at Tt =  and maintains that speed afterwards. In the same diagram, sketch the velocity 

time graphs for the motions of the car A and the car B until B overtakes A. Hence, find the 

time at which the speeds of the cars are equal. 
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at Tt =  and maintains that speed afterwards. In the same diagram, sketch the velocity 

time graphs for the motions of the car A and the car B until B overtakes A. Hence, find the 

time at which the speeds of the cars are equal. 
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at Tt =  and maintains that speed afterwards. In the same diagram, sketch the velocity 

time graphs for the motions of the car A and the car B until B overtakes A. Hence, find the 

time at which the speeds of the cars are equal. 
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2. A particle of mass m lying on a rough horizontal table is connected by

2m

m  
 a light inextensible string which is perpendicular to the edge of the 
 table and which passes over a small smooth pulley fixed at the edge 
 of the table, to a particle of mass 2m which hangs freely as shown in the 
 figure. The system is released from rest with the string taut. The 
 coefficient of friction between the particle of mass m and the table is
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at Tt =  and maintains that speed afterwards. In the same diagram, sketch the velocity 

time graphs for the motions of the car A and the car B until B overtakes A. Hence, find the 

time at which the speeds of the cars are equal. 
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,0=t  the speeds of A and B are u and ,
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 respectively. The car A moves with the same 
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at Tt =  and maintains that speed afterwards. In the same diagram, sketch the velocity 
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time at which the speeds of the cars are equal. 
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     vd;Dk; rk fjpfspy; xd;wpypUe;J xd;W mg;ghy; ,aq;Ffpd;wd vdj; jug;gl;Ls;sJ. kPsikTf; 

Fzfk;     vdTk; λ ,d; ngWkhdk;       vdTk; fhl;Lf' 	
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1.  Two particles of masses m and km, respectively move towards each other on a smooth 

horizontal table with speeds u and 
3
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 respectively. Given that the particles move with equal 

speeds 
2

u
away from each other after their direct impact, show that the coefficient of 
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2.  A particle of mass m kg rests on a rough horizontal table. It is connected by a light 

inextensible sting which is perpendicular to the edge of the table and which passes over a 

small smooth pulley fixed at the edge of the table, to a particle of mass 2m which hangs 

freely under gravity. The coefficient of friction between the mass m and the table is 
4
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. Show 

that the tension in the string as the system starts from rest, is mg
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3.    A light rod AB has two particles of masses m and 2m, respectively attached to the two ends  

A and B. The rod is held at rest in a horizontal position with its middle point C smoothly 

hinged to a fixed point, and the rod then moves in a vertical plane making an angle q  with 

the horizontal at time t. Using the principle of conservation of energy, show that the angular 

speed of the rod is given by 
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3
sin2 qq
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4.    Two cars A and B move along a straight road in parallel lanes in the same direction. At time 

,0=t  the speeds of A and B are u and ,
4
u

 respectively. The car A moves with the same 

constant speed u and the car B moves with constant acceleration  until it reaches the speed 

4
5u

 
at Tt =  and maintains that speed afterwards. In the same diagram, sketch the velocity 

time graphs for the motions of the car A and the car B until B overtakes A. Hence, find the 

time at which the speeds of the cars are equal. 
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                 w'fmd'i'^W'fm<& úNd.h - 2019 iy bkamiqj meje;afjk úNd. i|yd uQ,dlD;s m%Yak - ixhqla; .Ks;h 

3. †. 2a jQ ieye,aÆ AB oKavl A yd B foflf<jrg ms<sfj<ska A

B
2m

m
C

  ialkaO m yd 2m,  jQ wxY= folla iïnkaO lr we;'  oKafâ

 C uOH ,laIHh wp, ,laIHhlg iqug f,i wiõ lr ;sria 

 msysàul w,ajd ;nd ksYap,;djfha isg uqody˙kq ,efí' 

 ^rEmh n,kak'& Yla;s ixia:ß;s uQQ,Or®uh fh°fuka oKav 

 ;sri iu`. θ fldaKhla idok úg tla tla wxY=fõ v fõ.h 

 v2 = 
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sinθ 2ga   nj fmkajkak'
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 t = 0  ld,fha ° A  yd B ms<sfj<ska u yd 
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A and B. The rod is held at rest in a horizontal position with its middle point C smoothly 
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4.    Two cars A and B move along a straight road in parallel lanes in the same direction. At time 

,0=t  the speeds of A and B are u and ,
4
u

 respectively. The car A moves with the same 

constant speed u and the car B moves with constant acceleration  until it reaches the speed 

4
5u

 
at Tt =  and maintains that speed afterwards. In the same diagram, sketch the velocity 

time graphs for the motions of the car A and the car B until B overtakes A. Hence, find the 

time at which the speeds of the cars are equal. 
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 jk ;=re ksh; ;ajrKfhka 

 p,kh ù miqj tu fõ.h mj;ajd f.k hhs' A fudagr® r:fha yd B  fudagr® r:fha p,s;h i|yd 

 m%fõ. - ld, jl%j, o< igyka tlu rEmhl w¢kak' ta khska B u.ska A miqlr hEug .;jk 

 ld,h kSr®Kh ls¯ug iólrKla ,nd .kak' 
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Mfpa ,U KidfSld; KiwNa m> 2m vd;Dk; 

jpzpTfis cila ,U Jzpf;iffs; 

,izf;fg;gl;Ls;sd. Nfhy; mjd; eLg;Gs;sp C xU 
epiyj;j Gs;spapy; xg;gkhfg; gpizf;fg;gl;L xU 

fpil miktpy;; jhq;fg;gl;L Xa;tpypUe;J 

tpLtpf;fg;gLfpd;wJ (cUitg; ghh;f;f). rf;jpf; fhg;Gf; 

Nfhl;ghl;ilg; gad;gLj;jp> Nfhy; fpilAld;  Nfhzk; 

θ  I Mf;Fk;NghJ 	xt;nthU Jzpf;ifapdJk; fjp 

v MdJ v2 = 
3 

sinθ 2ga  ,dhy; jug;gLfpd;wnjdf; 

fhl;Lf.
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4.	 A> B vd;Dk; ,U fhu;fs; xU Neu;g; ghijapd; ,U rkhe;ju xOq;iffspy; xNu jpirapy; ,aq;Ffpd;wd. 

Neuk; t = 0  ,y; A> B Mfpad KiwNa u>    vd;Dk; fjpfspy; xU ghyj;ijf; fle;J nry;fpd;wd. 

fhu; A  mNj khwhf; fjp u cld; ,aq;Fk; mNj Ntis fhu; B  MdJ Neuk; t = T  ,y; fjp 
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3. Two particles of masses m and 2m are attached to the two A

B
2m

m
C

 ends A and B respectively of a light rod AB of length 2a.
 The rod is held in a horizontal position with its middle 
 point C smoothly hinged to a fixed point, and released 
 from rest. (See the figure.) Using the Principle of 
 Conservation of Energy, show that the speed v of the 
 particles when the rod makes an angle θ with the
 horizontal is given by v2 = 

3 
sinθ .2ga   
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small smooth pulley fixed at the edge of the table, to a particle of mass 2m which hangs 
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that the tension in the string as the system starts from rest, is mg
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speed of the rod is given by 
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4.    Two cars A and B move along a straight road in parallel lanes in the same direction. At time 

,0=t  the speeds of A and B are u and ,
4
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 respectively. The car A moves with the same 

constant speed u and the car B moves with constant acceleration  until it reaches the speed 

4
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at Tt =  and maintains that speed afterwards. In the same diagram, sketch the velocity 

time graphs for the motions of the car A and the car B until B overtakes A. Hence, find the 

time at which the speeds of the cars are equal. 
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 time t = T, and maintains that speed afterwards. In the same diagram, sketch the velocity - time

 graphs for the motions of car A and car B. 
 Hence, obtain an equation to determine the time at which B overtakes A.
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Mf 

,Uf;Fk; tiu khwh Mu;KLfYld; ,aq;fp> gpd;du; mNj fjpiag; NgZfpd;wJ. fhu; A ,dJk; fhu; 

B ,dJk; ,af;fq;fSf;fhd Ntf- Neu tiuGfis xNu tupglj;jpy; gUk;gbahf tiuf. 

	 ,jpypUe;J> B MdJ A If; fle;J nry;tjw;F vLf;Fk; Neuj;ijj; Jzptjw;F xU rkd;ghl;bidg; 

ngWf. 
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5.	 300 nkl;upf; njhd; jpzpTs;s xU Gifapujk; xU Neu;r; rkjsg; Gifapujg; ghij topNa khwhf; 

fjp 15 m s−1  cld; ,aq;Fk; mNj Ntis ,af;fj;jpw;fhd jil 50 N / nkl;upf; njhd; MFk;. 

Gifapujj;jpd; tYitf; fpNyhthw;wpw; fhz;f. 50 nkl;upf; njhd; jpzpTs;s gpw;gf;fg; ngl;b gpupe;J 

nry;Yk; mNj Ntis vQ;rpdpd; typg;G tpir khwhky; ,Uf;fpd;wJ. Gifapujj;jpd; vQ;rpa 

gFjpapd; Mh;KLfiyf; fhz;f.	

.........................................................................................................................................
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.........................................................................................................................................

.........................................................................................................................................

.........................................................................................................................................

.........................................................................................................................................

.........................................................................................................................................

.........................................................................................................................................

6.	 tof;fkhd Fwpg;gPl;by; xU epiyj;j cw;gj;jp O If; Fwpj;J A, B> C vd;Dk; %d;W Gs;spfspd; 

jhdf; fhtpfs; KiwNa 4i + j,  λi + μ j> i + 5j MFk;É	,q;F λ> μ  Mfpad Neu; khwpypfs;. ehw;gf;fy; 

OABC ,d; %iytpl;lq;fs; ePsj;jpy; rkkhditAk; xd;Wf;nfhd;W nrq;Fj;jhditAk; MFk;.  
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5. A train of mass 300 metric tons is moving in a straight level track, with constant speed  15 m s−1 

 and the resistance to motion is 50 N per metric ton. Find the power of the train in kilowatts. 
 Rear coach of mass 50 metric tons gets dislodged while the tractive force of the engine is unaltered. 
 Find the acceleration of the remaining portion of the train. 
 .............................................................................................................................................................

 .............................................................................................................................................................
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 .............................................................................................................................................................
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 .............................................................................................................................................................

6. In the usual notation, let 4i + j, λi + μj and i + 5j be the position vectors of three points                 
 A, B and C respectively, with respect to a fixed origin O, where λ and μ are positive constants. The 
 diagonals of the quadrilateral OABC are equal in length and perpendicular to each other. Write 
 down 

5.    A train of mass 300 metric tons is moving in a straight level track, with constant speed          

15   m s-1 and the resistances to motion is 50 N per ton. Find the power of the train in 

kilowatts.  

Rear coach of mass 50 tons gets dislodged and the tractive force of the engine is unaltered. 

Show that the acceleration of the remaining portion of the train is 1 cm s-2 and that the rear 

coach comes to rest after moving a distance 2250 m. 
 

6.    In usual notation, let ji +4 , ji µl +  and ji 5+  be the position vectors of three points A, B 

and C  respectively, with respect to a fixed origin O, where l  and µ are positive constants. 

The diagonals of the quadrilateral OABC are equal and perpendicular to each other. Write 

down  AB  in terms of i  and .j  Using vectors, show that 4=l  and .3=µ  

 

7.   A smooth uniform rod AB of length 2a and weight W which goes through a small light 

smooth ring  P  has its end A on a smooth horizontal ground and the other end B in contact 

with a smooth vertical wall. The rod is kept in equilibrium, at an angle !60 to the horizontal, 

in a vertical plane perpendicular to the wall by a light inextensible string which connects the 

ring to the O point shown in the diagram. Show that !90ˆ =APO and write an equation or 

equations to determine the tension of the string.  

 
 

8. A particle of mass m is placed on a rough plane inclined at an angle a  to the horizontal 

satisfying the condition that µa >tan , where µ  is the coefficient of friction. The particle is 

held in equilibrium with a force P applied upwards to the particle along a line of greatest 

slope of the plane. Show that )cos(sin)cos(sin aµaaµa +££- mgPmg . 

 

9. Find the probability that the sum of the number of dots obtained in at most 3 tosses of an 

unbiased standard die with 1, 2, 3, 4, 5, and 6 dots marked on its six faces is exactly 6.  

 

10. The mean and the mode of the set of seven numbers a, b, 4, 5, 7, 4 and 5 are equal, where a 

and b are positive integers. Find the values of a and b, and show that the variance of the 

seven numbers is 
7
6

. 

AC in terms of  i and j.  Using scalar product, show that λ = 4 and μ = 3.
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vdTk; fhl;Lf' 
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7.		 xU rpwpa ,Nyrhd xg;gkhd tisak; P ,D}lhfr; nry;Yk; ePsk; 2a IAk; epiw W IAk; cila Xu; 

xg;gkhd rPuhd Nfhy; AB ,d; Kid A Xu; xg;gkhd fpilj; jiu kPJk; kw;iwa Kid  B Xu; xg;gkhd 
			 epiyf;Fj;Jr; Rtiuj; njhl;Lf; nfhz;Lk; cs;sd. fpilAld; 60° Nfhzj;ij Mf;fpf; nfhz;L 

RtUf;Fr; nrq;Fj;jhd xU epiyf;Fj;Jj; jsj;jpy; Nfhy; cUtpy; fhl;lg;gl;Ls;sthW Gs;sp O 
cld; P I ,izf;Fk; Xu; ,Nyrhd ePl;l Kbahj ,ioapdhy; ehg;gj;jpy; itf;fg;gl;Ls;sJ.                               
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7. A smooth uniform rod AB of length 2a and weight W which has its end
B

AO

P

 A on a smooth horizontal ground and the other end B in contact with a 
 smooth vertical wall. The rod is kept in equilibrium, at an angle  60° to 
 the horizontal, in a vertical plane perpendicular to the wall by a light 
 inextensible string which connects the point O and a small light smooth 
 ring P which slides along the rod as shown in the diagram. Show that 
 

 

 

5.    A train of mass 300 metric tons is moving in a straight level track, with constant speed          

15   m s-1 and the resistances to motion is 50 N per ton. Find the power of the train in 

kilowatts.  

Rear coach of mass 50 tons gets dislodged and the tractive force of the engine is unaltered. 

Show that the acceleration of the remaining portion of the train is 1 cm s-2 and that the rear 

coach comes to rest after moving a distance 2250 m. 

 

6.    In usual notation, let ji 43 + , jl  and ji 43 +-  be the position vectors of three points A, B 

and C  respectively, with respect to a fixed origin O, where l  is a real constant. Show that 

the diagonals of the quadrilateral OABC intersect orthogonally. Find values of l  such that 

ABC  is an  equilateral triangle.  

 

7.   A smooth uniform rod AB of length 2a and weight W which goes through a small light 

smooth ring  P  has its end A on a smooth horizontal ground and the other end B in contact 

with a smooth vertical wall. The rod is kept in equilibrium, at an angle !60 to the horizontal, 

in a vertical plane W  perpendicular to the wall by a light inextensible string which connects 

the point O to the ring, where O is the point at which the plane W  meets the common edge of 

ground and the wall. Show that !90ˆ =APO .  

Let C be the point such that OACB is a rectangle. By taking moments about C, find the tension 

of the string. [Assume that the perpendicular distance from C  to the string is
2
a

.]  

8. A particle of mass m is placed on a rough plane inclined at an angle a  to the horizontal 

satisfying the condition µa >tan , where µ  is the coefficient of friction. The particle is 

held in equilibrium with a force P applied upwards to the particle along a line of greatest 

slope of the plane. Show that )cos(sin)cos(sin aµaaµa +££- mgPmg . 

 

9. Find the probability that the sum of the number of dots obtained in at most 3 tosses of an 

unbiased standard die with 1, 2, 3, 4, 5, and 6 dots marked on its six faces is exactly 6.  

10. 

and write down equations sufficient to determine the tension 
 of the string. 
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8. A particle of mass m is placed on a rough plane inclined at an angle α to the horizontal, where 
 the coefficient of friction between the plane and the particle is μ (< tan α). The particle is held
 in  equilibrium with a force P applied upwards to the particle along a line of greatest slope of the 
 plane. Show that 

 

 

5.    A train of mass 300 metric tons is moving in a straight level track, with constant speed          

15   m s-1 and the resistances to motion is 50 N per ton. Find the power of the train in 
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Show that the acceleration of the remaining portion of the train is 1 cm s-2 and that the rear 
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and C  respectively, with respect to a fixed origin O, where l  is a real constant. Show that 

the diagonals of the quadrilateral OABC intersect orthogonally. Find values of l  such that 

ABC  is an  equilateral triangle.  
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with a smooth vertical wall. The rod is kept in equilibrium, at an angle !60 to the horizontal, 

in a vertical plane W  perpendicular to the wall by a light inextensible string which connects 

the point O to the ring, where O is the point at which the plane W  meets the common edge of 

ground and the wall. Show that !90ˆ =APO .  

Let C be the point such that OACB is a rectangle. By taking moments about C, find the tension 

of the string. [Assume that the perpendicular distance from C  to the string is
2
a

.]  

8. A particle of mass m is placed on a rough plane inclined at an angle a  to the horizontal 

satisfying the condition µa >tan , where µ  is the coefficient of friction. The particle is 

held in equilibrium with a force P applied upwards to the particle along a line of greatest 

slope of the plane. Show that )cos(sin)cos(sin aµaaµa +££- mgPmg . 

 

9. Find the probability that the sum of the number of dots obtained in at most 3 tosses of an 

unbiased standard die with 1, 2, 3, 4, 5, and 6 dots marked on its six faces is exactly 6.  

10. 
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8. A particle of mass m is placed on a rough plane inclined at an angle a  to the horizontal 

satisfying the condition µa >tan , where µ  is the coefficient of friction. The particle is 

held in equilibrium with a force P applied upwards to the particle along a line of greatest 
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9. Find the probability that the sum of the number of dots obtained in at most 3 tosses of an 

unbiased standard die with 1, 2, 3, 4, 5, and 6 dots marked on its six faces is exactly 6.  
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and write down equations sufficient to determine the tension 
 of the string. 
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8. A particle of mass m is placed on a rough plane inclined at an angle α to the horizontal, where 
 the coefficient of friction between the plane and the particle is μ (< tan α). The particle is held
 in  equilibrium with a force P applied upwards to the particle along a line of greatest slope of the 
 plane. Show that 

 

 

5.    A train of mass 300 metric tons is moving in a straight level track, with constant speed          

15   m s-1 and the resistances to motion is 50 N per ton. Find the power of the train in 

kilowatts.  

Rear coach of mass 50 tons gets dislodged and the tractive force of the engine is unaltered. 

Show that the acceleration of the remaining portion of the train is 1 cm s-2 and that the rear 

coach comes to rest after moving a distance 2250 m. 

 

6.    In usual notation, let ji 43 + , jl  and ji 43 +-  be the position vectors of three points A, B 

and C  respectively, with respect to a fixed origin O, where l  is a real constant. Show that 

the diagonals of the quadrilateral OABC intersect orthogonally. Find values of l  such that 

ABC  is an  equilateral triangle.  

 

7.   A smooth uniform rod AB of length 2a and weight W which goes through a small light 

smooth ring  P  has its end A on a smooth horizontal ground and the other end B in contact 

with a smooth vertical wall. The rod is kept in equilibrium, at an angle !60 to the horizontal, 

in a vertical plane W  perpendicular to the wall by a light inextensible string which connects 

the point O to the ring, where O is the point at which the plane W  meets the common edge of 

ground and the wall. Show that !90ˆ =APO .  

Let C be the point such that OACB is a rectangle. By taking moments about C, find the tension 

of the string. [Assume that the perpendicular distance from C  to the string is
2
a

.]  

8. A particle of mass m is placed on a rough plane inclined at an angle a  to the horizontal 

satisfying the condition µa >tan , where µ  is the coefficient of friction. The particle is 

held in equilibrium with a force P applied upwards to the particle along a line of greatest 

slope of the plane. Show that )cos(sin)cos(sin aµaaµa +££- mgPmg . 

 

9. Find the probability that the sum of the number of dots obtained in at most 3 tosses of an 

unbiased standard die with 1, 2, 3, 4, 5, and 6 dots marked on its six faces is exactly 6.  

10. 
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9.	 MW Kfq;fs; kPJk; 1, 2, 3, 4, 5> 6 vdg; Gs;spfs; Fwpf;fg;gl;l xU Nfhlhj epakj;  jhaf; 
	 fl;ilapd; cau;e;jgl;rk; %d;W vwpiffspy; ngw;w Gs;spfspd; $l;Lj;njhif nrg;gkhf 	

	 Mwhf 	,Ug;gjw;fhd epfo;jfitf; fhl;Lf. 
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10.	 a, b, 4, 5, 7, 4> 5 vd;Dk; VO vz;fspdJk; ,ilAk; MfhuKk; rkk;; ,q;F a> b Mfpad Neh;  

epiwnaz;fs; MFk;. a> b Mfpatw;wpd; ngWkhdq;fisf; fz;L> VO vz;fspdJk; khww;wpwd; 
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9. Find the probability that the sum of the number of dots obtained in at most three tosses 
 of an unbiased standard die with 1, 2, 3, 4, 5 and 6 dots marked on its six faces, is exactly six. 

 ...........................................................................................................................................................

 ...........................................................................................................................................................

 ...........................................................................................................................................................

 ...........................................................................................................................................................

 ...........................................................................................................................................................

 ...........................................................................................................................................................

 ...........................................................................................................................................................

 ...........................................................................................................................................................

 ...........................................................................................................................................................

 ...........................................................................................................................................................

10. The mean and the mode of the set of seven numbers a, b, 4, 5, 7, 4 and 5 are equal, where a and b
 are positive integers. Find the values of a and b, and show that the variance of the seven 
 numbers is  

5.    A train of mass 300 metric tons is moving in a straight level track, with constant speed          

15   m s-1 and the resistances to motion is 50 N per ton. Find the power of the train in 

kilowatts.  

Rear coach of mass 50 tons gets dislodged and the tractive force of the engine is unaltered. 

Show that the acceleration of the remaining portion of the train is 1 cm s-2 and that the rear 

coach comes to rest after moving a distance 2250 m. 
 

6.    In usual notation, let ji +4 , ji µl +  and ji 5+  be the position vectors of three points A, B 

and C  respectively, with respect to a fixed origin O, where l  and µ are positive constants. 

The diagonals of the quadrilateral OABC are equal and perpendicular to each other. Write 

down  AB  in terms of i  and .j  Using vectors, show that 4=l  and .3=µ  

 

7.   A smooth uniform rod AB of length 2a and weight W which goes through a small light 

smooth ring  P  has its end A on a smooth horizontal ground and the other end B in contact 

with a smooth vertical wall. The rod is kept in equilibrium, at an angle !60 to the horizontal, 

in a vertical plane perpendicular to the wall by a light inextensible string which connects the 

ring to the O point shown in the diagram. Show that !90ˆ =APO and write an equation or 

equations to determine the tension of the string.  

 
 

8. A particle of mass m is placed on a rough plane inclined at an angle a  to the horizontal 

satisfying the condition that µa >tan , where µ  is the coefficient of friction. The particle is 

held in equilibrium with a force P applied upwards to the particle along a line of greatest 

slope of the plane. Show that )cos(sin)cos(sin aµaaµa +££- mgPmg . 

 

9. Find the probability that the sum of the number of dots obtained in at most 3 tosses of an 

unbiased standard die with 1, 2, 3, 4, 5, and 6 dots marked on its six faces is exactly 6.  

 

10. The mean and the mode of the set of seven numbers a, b, 4, 5, 7, 4 and 5 are equal, where a 

and b are positive integers. Find the values of a and b, and show that the variance of the 

seven numbers is 
7
6

. .
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Part B 

11. (a) A particle projected from a point O on a horizontal ground with a velocity  11. (a) A particle projected from a point O on a horizontal ground with a velocity gau 2=  

making an angle ÷
ø
ö

ç
è
æ <<

2
0

pqq  to the horizontal, moves under gravity and hits a target at a 

point P. The horizontal and vertical distances of P measured from O are a and ka, 

respectively, where k is a constant (see the figure). Show that 014tan4tan2 =++- kqq  

and deduce that 
4
3

£k .  

       Now, let 
16
11

=k . Show that the angle between the two possible directions of projection is 

÷
ø
ö

ç
è
æ-

19
4

tan 1 . 

 

 

 (b)  An airport  A is situated at an angle q  East of South, at a distance d from an airport B.  

       On a certain day an air plane flies directly from A to B with a speed u relative to the wind 

which blows from North at a velocity )( uv < . Sketch the velocity triangle for this flight, and 

show that the time taken to fly from A to B is 
qq cossin222 vvu

d

--
.  

       On the following day, the plane flies back directly from B to A with a speed 
2
u

 relative to 

the wind which blows from South at a velocity 
2
v

. Sketch the velocity triangle for the return 

journey and show that the time taken to fly from B to A is twice as much as the time taken 

from A to B. 
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pqq  to the horizontal, moves under gravity and hits a target at a 

point P. The horizontal and vertical distances of P measured from O are a and ka, 

respectively, where k is a constant (see the figure). Show that 014tan4tan2 =++- kqq  

and deduce that 
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 (b)  An airport  A is situated at an angle q  East of South, at a distance d from an airport B.  

       On a certain day an air plane flies directly from A to B with a speed u relative to the wind 

which blows from North at a velocity )( uv < . Sketch the velocity triangle for this flight, and 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 
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the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
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     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
    
   

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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  to a couple, and find the moment of this couple.
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     so that the resultant of the four forces acting at A, B, C and D, passes through the origin O. 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 
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the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
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Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
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µlµl  and deduce that 
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a b = 0 and find the values of λ and μ.

     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
    
   

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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         Here i and j denote unit vectors in the positive directions of coordinate axes Ox and Oy, 
  respectively, and F, a are positive quantities measured in newtons and metres,  respectively. 
  Mark these forces in a single diagram, and show that their vector sum is zero.
  Find the anti-clockwise moment, G, of the system about a point P with position vector 
  xi + yj  and show that G is independent of  x and y. Hence show that the system is equivalent 
  to a couple, and find the moment of this couple.
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still 
 attached to the end of the string begins to move. Obtain the equation for motion of P,
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the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
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 Find the centre C and the amplitude of this simple harmonic motion.  
 At the point C, a vertical impulse is applied to the particle so that its velocity is trebled. Show
 that the centre of the motion, while the string is taut remains the same, and that the amplitude 
 of this motion is  3a.

 Hence show that the string becomes slack after a total time 
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 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 
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a b = 0 and find the values of λ and μ.

     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
    
   

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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         Here i and j denote unit vectors in the positive directions of coordinate axes Ox and Oy, 
  respectively, and F, a are positive quantities measured in newtons and metres,  respectively. 
  Mark these forces in a single diagram, and show that their vector sum is zero.
  Find the anti-clockwise moment, G, of the system about a point P with position vector 
  xi + yj  and show that G is independent of  x and y. Hence show that the system is equivalent 
  to a couple, and find the moment of this couple.
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     so that the resultant of the four forces acting at A, B, C and D, passes through the origin O. 
  Find the values of X and Y.
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still 
 attached to the end of the string begins to move. Obtain the equation for motion of P,
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Find the speed of the particle at the instant when the string becomes slack. 
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,  where x(≥ a) is the length of the string.

 Find the centre C and the amplitude of this simple harmonic motion.  
 At the point C, a vertical impulse is applied to the particle so that its velocity is trebled. Show
 that the centre of the motion, while the string is taut remains the same, and that the amplitude 
 of this motion is  3a.

 Hence show that the string becomes slack after a total time 
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a b = 0 and find the values of λ and μ.

     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
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Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 
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Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
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Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 
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     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
    
   

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 
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Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g
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Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  
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Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 
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       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 
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Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 
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Re-writing this equation in the form ,02 =+ XX w!! where ,2
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=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 
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           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

,  where x(≥ a) is 
 the length of the string.

 Re-writing this equation in the form 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

 where 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

and 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

 identify 
 the centre C of simple harmonic oscillations. 
  Assuming the formula 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

find the amplitude A of this simple harmonic 
 motion.  
 At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. Show
 that the centre of the motion, while the string is taut remains the same and that the amplitude 
 of this motion is 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

  

 Hence show that the string becomes slack after a total time 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

 Find the speed of the particle at the instant when the string becomes slack.

14. (a) Let PQRS be a parallelogram and let T be the point on QR such that 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

  

            Also, let 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

a and 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

 b. Express vectors 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

 and  

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

 in terms of a and b.          

 Let U be the point of intersection of PR and ST. Suppose that  

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

 and  

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

 where λ and μ are scalar constants. By considering the triangle PSU, show that 

 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

13.  One end of a light elastic string of natural length  a and modulus mg is attached to a fixed 
point O. Two equal particles, each of mass m are fastened together to the other end P, and 
the system hangs in equilibrium. Show that the extension of the string in this position is 2a.  
 
Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 

 

 

 

 

 

a b = 0 and find the values of λ and μ.

     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
    
   

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 
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Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
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Re-writing this equation in the form ,02 =+ XX w!! where ,2
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=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  
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Find the speed of the particle at the instant when the string becomes slack. 
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a b = 0 and find the values of λ and μ.

     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
    
   

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
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-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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         Here i and j denote unit vectors in the positive directions of coordinate axes Ox and Oy, 
  respectively, and F, a are positive quantities measured in newtons and metres,  respectively. 
  Mark these forces in a single diagram, and show that their vector sum is zero.
  Find the anti-clockwise moment, G, of the system about a point P with position vector 
  xi + yj  and show that G is independent of  x and y. Hence show that the system is equivalent 
  to a couple, and find the moment of this couple.
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5
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i ,d
     so that the resultant of the four forces acting at A, B, C and D, passes through the origin O. 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 
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Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø
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æ
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5
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2
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. 

Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 
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     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
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Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 
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Re-writing this equation in the form ,02 =+ XX w!! where ,2
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=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
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     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
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Point   Position Vector  Force 
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     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 
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x of the string  as .0)2( =-+ ax
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Re-writing this equation in the form ,02 =+ XX w!! where ,2
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=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
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Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 
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a b = 0 and find the values of λ and μ.

     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
    
   

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 
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Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g
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Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
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Find the speed of the particle at the instant when the string becomes slack. 
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           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 
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a b = 0 and find the values of λ and μ.

     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
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Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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         Here i and j denote unit vectors in the positive directions of coordinate axes Ox and Oy, 
  respectively, and F, a are positive quantities measured in newtons and metres,  respectively. 
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     so that the resultant of the four forces acting at A, B, C and D, passes through the origin O. 
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13.  One end of a light elastic string of natural length a and modulus mg is attached to a fixed 
 point O. Two equal particles, each of mass m are fastened together to the other end P of the string  
 and the system hangs in equilibrium. Show that the extension of the string in this position is 2a. 
 Now, one of the particles gets gently detached and the remaining particle of mass m, still attached 
 to the end of the string begins to move. Obtain the equation 
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Now, one of the particles gets gently detached and the remaining particle of mass m, still 
attached to the end of the string begins to move. Obtain the equation satisfied by  the length 

x of the string  as .0)2( =-+ ax
a
g

x!!   

Re-writing this equation in the form ,02 =+ XX w!! where ,2

a
g

=w  and ,2axX -=  identify 

the centre C of simple harmonic oscillations.  

 Assuming the formula )( 2222 XAX -=w! , find the amplitude A of this simple harmonic 

motion.  
  
At the point C, a vertical impulse is applied to the particle so that its velocity is doubled. 
Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
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Find the speed of the particle at the instant when the string becomes slack. 
 

 

14. (a) Let PQRS be a parallelogram and  T  be the point on QR such that 1:2: =TRQT .  

           Also, let aPQ =  and bPS = . Express PR  and ST in terms of a  and b . 

           

Let U be the point of intersection of  PR and ST. Suppose that  PRPU l= and 

STSU µ= , where l  and µ are scalar constants. By considering the triangle PSU, show 

that 01
3

)( =÷
ø
ö

ç
è
æ -++- ba

µlµl  and deduce that 
4
3

== µl . 
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Show that the equation of motion, while the string is taut, remains the same and that the 

amplitude of this motion  is a5 .  

Hence show that the string becomes slack after a total time ÷÷
ø

ö
çç
è

æ
÷
ø

ö
ç
è

æ+ -

5

2
sin

2
1p

g
a

. 

Find the speed of the particle at the instant when the string becomes slack. 
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a b = 0 and find the values of λ and μ.

     (b) A system consisting of three forces in the Oxy-plane act at the points indicated below:
    
   

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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  Find the values of X and Y.

     
 

15. (a) The figure represents a frame in the form of a pentagon
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. The angles at vertices A, B  and  D

  are  120° each. The frame is suspended from the 

  mid-point of AB and  is in equilibrium with the 

  symmetrical shape maintained by a light rod CE of length 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 

apart, from the centre of its smaller rim, is ÷
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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It 

  carries a weight W at the joint C and equilibrium is maintained with

  AB and DC horizontal and BD vertical by a horizontal force P 

  applied along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find 

  the stresses in all the rods. State  whether these are tensions or thrusts.
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 A funnel is made by fastening a frustum of height 3a of a 
 hollow right circular cone of with circular rims of radii a and 
 4a, to a hollow right circular cylinder of radius a and height 4a 
 along common circular rims of radius a such that the axes of 
 symmetry of the frustum and the cylinder coincide, as shown in 
 the figure. The funnel is made of the same uniform material. 
 Show that the centre of gravity M of the funnel is at a distance 
 8

3
a from the centre of the funnel circular rim of radius 4a. 

 
 A new composite body is made by fastening the funnel to a hollow uniform hemisphere of radius
 4a made of a material with surface density k times that of the funnel along the common rim of 
 radius 4a If the new composite body is in equilibrium when it is placed on a horizontal floor 
 with any point of the curved surface of the hemisphere touching the floor, find the value of k. 
 [you may assume that the centre of gravity of a uniform hollow hemisphere of radius a, lies at a
 distance a

2
 from its centre.] 
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  Find the values of X and Y.

     
 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 

     A   B 

 

 

 

 

  

E  C  

D  

0120  

0120  
0120  

  

  ABCDE formed of five uniform rods of weight w

  per unit length jointed at their ends. 

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 

     A   B 

 

 

 

 

  

E  C  

D  

0120  

0120  
0120  

  and 

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 

     A   B 

 

 

 

 

  

E  C  

D  

0120  

0120  
0120  

. The angles at vertices A, B  and  D

  are  120° each. The frame is suspended from the 

  mid-point of AB and  is in equilibrium with the 

  symmetrical shape maintained by a light rod CE of length 

  

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 

     A   B 

 

 

 

 

  

E  C  

D  

0120  

0120  
0120  

connecting the joints C and E. Show that the 

  reaction at the joint D is of magnitude 

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 

     A   B 

 

 

 

 

  

E  C  

D  

0120  

0120  
0120  

and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
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 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
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 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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 A funnel is made by fastening a frustum of height 3a of a 
 hollow right circular cone of with circular rims of radii a and 
 4a, to a hollow right circular cylinder of radius a and height 4a 
 along common circular rims of radius a such that the axes of 
 symmetry of the frustum and the cylinder coincide, as shown in 
 the figure. The funnel is made of the same uniform material. 
 Show that the centre of gravity M of the funnel is at a distance 
 8

3
a from the centre of the funnel circular rim of radius 4a. 

 
 A new composite body is made by fastening the funnel to a hollow uniform hemisphere of radius
 4a made of a material with surface density k times that of the funnel along the common rim of 
 radius 4a If the new composite body is in equilibrium when it is placed on a horizontal floor 
 with any point of the curved surface of the hemisphere touching the floor, find the value of k. 
 [you may assume that the centre of gravity of a uniform hollow hemisphere of radius a, lies at a
 distance a

2
 from its centre.] 
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  Find the values of X and Y.

     
 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 
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respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 

apart, from the centre of its smaller rim, is ÷
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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 A funnel is made by fastening a frustum of height 3a of a 
 hollow right circular cone of with circular rims of radii a and 
 4a, to a hollow right circular cylinder of radius a and height 4a 
 along common circular rims of radius a such that the axes of 
 symmetry of the frustum and the cylinder coincide, as shown in 
 the figure. The funnel is made of the same uniform material. 
 Show that the centre of gravity M of the funnel is at a distance 
 8

3
a from the centre of the funnel circular rim of radius 4a. 

 
 A new composite body is made by fastening the funnel to a hollow uniform hemisphere of radius
 4a made of a material with surface density k times that of the funnel along the common rim of 
 radius 4a If the new composite body is in equilibrium when it is placed on a horizontal floor 
 with any point of the curved surface of the hemisphere touching the floor, find the value of k. 
 [you may assume that the centre of gravity of a uniform hollow hemisphere of radius a, lies at a
 distance a

2
 from its centre.] 
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  Find the values of X and Y.

     
 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   
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along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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 A funnel is made by fastening a frustum of height 3a of a 
 hollow right circular cone of with circular rims of radii a and 
 4a, to a hollow right circular cylinder of radius a and height 4a 
 along common circular rims of radius a such that the axes of 
 symmetry of the frustum and the cylinder coincide, as shown in 
 the figure. The funnel is made of the same uniform material. 
 Show that the centre of gravity M of the funnel is at a distance 
 8

3
a from the centre of the funnel circular rim of radius 4a. 

 
 A new composite body is made by fastening the funnel to a hollow uniform hemisphere of radius
 4a made of a material with surface density k times that of the funnel along the common rim of 
 radius 4a If the new composite body is in equilibrium when it is placed on a horizontal floor 
 with any point of the curved surface of the hemisphere touching the floor, find the value of k. 
 [you may assume that the centre of gravity of a uniform hollow hemisphere of radius a, lies at a
 distance a

2
 from its centre.] 
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  Find the values of X and Y.

     
 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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It 

  carries a weight W at the joint C and equilibrium is maintained with

  AB and DC horizontal and BD vertical by a horizontal force P 

  applied along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find 

  the stresses in all the rods. State  whether these are tensions or thrusts.
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 A funnel is made by fastening a frustum of height 3a of a 
 hollow right circular cone of with circular rims of radii a and 
 4a, to a hollow right circular cylinder of radius a and height 4a 
 along common circular rims of radius a such that the axes of 
 symmetry of the frustum and the cylinder coincide, as shown in 
 the figure. The funnel is made of the same uniform material. 
 Show that the centre of gravity M of the funnel is at a distance 
 8

3
a from the centre of the funnel circular rim of radius 4a. 

 
 A new composite body is made by fastening the funnel to a hollow uniform hemisphere of radius
 4a made of a material with surface density k times that of the funnel along the common rim of 
 radius 4a If the new composite body is in equilibrium when it is placed on a horizontal floor 
 with any point of the curved surface of the hemisphere touching the floor, find the value of k. 
 [you may assume that the centre of gravity of a uniform hollow hemisphere of radius a, lies at a
 distance a

2
 from its centre.] 
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  Find the values of X and Y.

     
 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
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 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
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 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   
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maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
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stresses in all the rods. State whether these are tensions or thrusts.  
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 A funnel is made by fastening a frustum of height 3a of a 
 hollow right circular cone of with circular rims of radii a and 
 4a, to a hollow right circular cylinder of radius a and height 4a 
 along common circular rims of radius a such that the axes of 
 symmetry of the frustum and the cylinder coincide, as shown in 
 the figure. The funnel is made of the same uniform material. 
 Show that the centre of gravity M of the funnel is at a distance 
 8

3
a from the centre of the funnel circular rim of radius 4a. 

 
 A new composite body is made by fastening the funnel to a hollow uniform hemisphere of radius
 4a made of a material with surface density k times that of the funnel along the common rim of 
 radius 4a If the new composite body is in equilibrium when it is placed on a horizontal floor 
 with any point of the curved surface of the hemisphere touching the floor, find the value of k. 
 [you may assume that the centre of gravity of a uniform hollow hemisphere of radius a, lies at a
 distance a

2
 from its centre.] 

Kidfspy; RahjPdkhf %l;br; nra;ag;gl;lJk; %l;L A gw;wp 
xU epiyf;Fj;Jj; jsj;jpy; miraj;jf;fJkhd xU rl;lg;gly; 
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  Find the values of X and Y.

     
 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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 A funnel is made by fastening a frustum of height 3a of a 
 hollow right circular cone of with circular rims of radii a and 
 4a, to a hollow right circular cylinder of radius a and height 4a 
 along common circular rims of radius a such that the axes of 
 symmetry of the frustum and the cylinder coincide, as shown in 
 the figure. The funnel is made of the same uniform material. 
 Show that the centre of gravity M of the funnel is at a distance 
 8

3
a from the centre of the funnel circular rim of radius 4a. 

 
 A new composite body is made by fastening the funnel to a hollow uniform hemisphere of radius
 4a made of a material with surface density k times that of the funnel along the common rim of 
 radius 4a If the new composite body is in equilibrium when it is placed on a horizontal floor 
 with any point of the curved surface of the hemisphere touching the floor, find the value of k. 
 [you may assume that the centre of gravity of a uniform hollow hemisphere of radius a, lies at a
 distance a

2
 from its centre.] 
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  Find the values of X and Y.

     
 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 

apart, from the centre of its smaller rim, is ÷
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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stresses in all the rods. State whether these are tensions or thrusts.  
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 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
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 A funnel is made by fastening a frustum of height 3a of a 
 hollow right circular cone of with circular rims of radii a and 
 4a, to a hollow right circular cylinder of radius a and height 4a 
 along common circular rims of radius a such that the axes of 
 symmetry of the frustum and the cylinder coincide, as shown in 
 the figure. The funnel is made of the same uniform material. 
 Show that the centre of gravity M of the funnel is at a distance 
 8

3
a from the centre of the funnel circular rim of radius 4a. 

 
 A new composite body is made by fastening the funnel to a hollow uniform hemisphere of radius
 4a made of a material with surface density k times that of the funnel along the common rim of 
 radius 4a If the new composite body is in equilibrium when it is placed on a horizontal floor 
 with any point of the curved surface of the hemisphere touching the floor, find the value of k. 
 [you may assume that the centre of gravity of a uniform hollow hemisphere of radius a, lies at a
 distance a

2
 from its centre.] 
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  Find the values of X and Y.

     
 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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  ABCDE formed of five uniform rods of weight w

  per unit length jointed at their ends. 

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 
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       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 
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wb 3  and find the thrust in the light rod CE. 
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. The angles at vertices A, B  and  D

  are  120° each. The frame is suspended from the 

  mid-point of AB and  is in equilibrium with the 

  symmetrical shape maintained by a light rod CE of length 
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wb 3  and find the thrust in the light rod CE. 
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respectively, and F, a are positive quantities measured in newtons and metres 
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hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
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 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
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 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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 A funnel is made by fastening a frustum of height 3a of a 
 hollow right circular cone of with circular rims of radii a and 
 4a, to a hollow right circular cylinder of radius a and height 4a 
 along common circular rims of radius a such that the axes of 
 symmetry of the frustum and the cylinder coincide, as shown in 
 the figure. The funnel is made of the same uniform material. 
 Show that the centre of gravity M of the funnel is at a distance 
 8

3
a from the centre of the funnel circular rim of radius 4a. 

 
 A new composite body is made by fastening the funnel to a hollow uniform hemisphere of radius
 4a made of a material with surface density k times that of the funnel along the common rim of 
 radius 4a If the new composite body is in equilibrium when it is placed on a horizontal floor 
 with any point of the curved surface of the hemisphere touching the floor, find the value of k. 
 [you may assume that the centre of gravity of a uniform hollow hemisphere of radius a, lies at a
 distance a

2
 from its centre.] 

 vd;Dk; Miufisf; nfhz;l ,U tl;l 

tpspk;Gfs; cs;s xU rPuhd nrt;tl;lg; nghl;$k;gpd; Xu; mbj;Jz;bd; GtpaPu;g;G ikak; 

mjd; rpwpa tpspk;gpd; ikaj;jpypUe;J J}uk; 

- 8 -

G.C.E.(A.L.) Examinations - Prototype questions for examinations from 2019 and onwards - Combined Mathematics 

8 proof 2018.07.06
  Find the values of X and Y.

     
 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   
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maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
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stresses in all the rods. State whether these are tensions or thrusts.  
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maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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 A funnel is made by fastening a frustum of height 3a of a 
 hollow right circular cone of with circular rims of radii a and 
 4a, to a hollow right circular cylinder of radius a and height 4a 
 along common circular rims of radius a such that the axes of 
 symmetry of the frustum and the cylinder coincide, as shown in 
 the figure. The funnel is made of the same uniform material. 
 Show that the centre of gravity M of the funnel is at a distance 
 8

3
a from the centre of the funnel circular rim of radius 4a. 

 
 A new composite body is made by fastening the funnel to a hollow uniform hemisphere of radius
 4a made of a material with surface density k times that of the funnel along the common rim of 
 radius 4a If the new composite body is in equilibrium when it is placed on a horizontal floor 
 with any point of the curved surface of the hemisphere touching the floor, find the value of k. 
 [you may assume that the centre of gravity of a uniform hollow hemisphere of radius a, lies at a
 distance a

2
 from its centre.] 
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15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 

     A   B 

 

 

 

 

  

E  C  

D  

0120  

0120  
0120  

  

  ABCDE formed of five uniform rods of weight w

  per unit length jointed at their ends. 

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 

     A   B 

 

 

 

 

  

E  C  

D  

0120  

0120  
0120  

  and 

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 

     A   B 

 

 

 

 

  

E  C  

D  

0120  

0120  
0120  

. The angles at vertices A, B  and  D

  are  120° each. The frame is suspended from the 

  mid-point of AB and  is in equilibrium with the 

  symmetrical shape maintained by a light rod CE of length 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 

apart, from the centre of its smaller rim, is ÷
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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  with AB and DC horizontal and BD vertical by a horizontal force P 

  applied along CD at the joint D. Find P in terms of W.
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	 A saucepan is made by fastening the edge of a thin uniform circular  

 plate of radius a having a surface density σ to the smaller circular

 rim of a frustum of height 3a of a hollow right circular  cone with 

 circular rims of radii a and 5a having the same surface density σ,

 and fastening a thin uniform rod AB of length 4a and linear density 

 ρ to the larger rim of the frustum such that the points O, A and	are collinear, where O is the 

 centre of the larger rim of the frustum, as shown in the figure. Find the position of the centre of 

 gravity of the saucepan. 

	 Show that if ρ
σ < 31

24
πa , then the saucepan can stay is equilibrium when placed on a

 horizontal table with its bottom touching it. 

	 It is given that ρ = πaσ. Find the angle BA makes with the downward vertical when the 

 saucepan is suspended freely from the end B'	

	 Miu a IAk; gug;G mlu;j;jp 
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15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 
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 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a
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 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 

apart, from the centre of its smaller rim, is ÷
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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  It carries a weight W at the joint C and equilibrium is maintained 

  with AB and DC horizontal and BD vertical by a horizontal force P 

  applied along CD at the joint D. Find P in terms of W.

  Sketch a stress diagram using Bow’s notation and hence find the 

  stresses in all the rods. State whether these are tensions or thrusts.
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	 A saucepan is made by fastening the edge of a thin uniform circular  

 plate of radius a having a surface density σ to the smaller circular

 rim of a frustum of height 3a of a hollow right circular  cone with 

 circular rims of radii a and 5a having the same surface density σ,

 and fastening a thin uniform rod AB of length 4a and linear density 

 ρ to the larger rim of the frustum such that the points O, A and	are collinear, where O is the 

 centre of the larger rim of the frustum, as shown in the figure. Find the position of the centre of 

 gravity of the saucepan. 

	 Show that if ρ
σ < 31

24
πa , then the saucepan can stay is equilibrium when placed on a

 horizontal table with its bottom touching it. 

	 It is given that ρ = πaσ. Find the angle BA makes with the downward vertical when the 

 saucepan is suspended freely from the end B'	
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                             Structure of Question Papers and Prototype questions for G.C.E.(A.L.) Examination - 2019 Onwards - Combined Mathematics 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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  ABCDE formed of five uniform rods of weight w

  per unit length jointed at their ends. 
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  are  120° each. The frame is suspended from the 

  mid-point of AB and  is in equilibrium with the 

  symmetrical shape maintained by a light rod CE of length 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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	 A saucepan is made by fastening the edge of a thin uniform circular  

 plate of radius a having a surface density σ to the smaller circular

 rim of a frustum of height 3a of a hollow right circular  cone with 

 circular rims of radii a and 5a having the same surface density σ,

 and fastening a thin uniform rod AB of length 4a and linear density 

 ρ to the larger rim of the frustum such that the points O, A and	are collinear, where O is the 

 centre of the larger rim of the frustum, as shown in the figure. Find the position of the centre of 

 gravity of the saucepan. 

	 Show that if ρ
σ < 31

24
πa , then the saucepan can stay is equilibrium when placed on a

 horizontal table with its bottom touching it. 

	 It is given that ρ = πaσ. Find the angle BA makes with the downward vertical when the 

 saucepan is suspended freely from the end B'	

cs;s xU ntWk; nrt;tl;lf; 

$k;gpd; cauk; 3a  I cila Xh; mbj;Jz;bd; 

	 rpwpa tpspk;Gld; cUfpizg;gjdhYk; ePsk; 4a IAk; Vfgupkhz mlu;j;jp p IAk; cila 

xU nky;ypa rPuhd Nfhy; AB I mbj;Jz;bd; ngupa tpspk;Gld; O, A, B Mfpa Gs;spfs; 

xNu Nfhl;by; ,Uf;FkhW cUtpy; fhl;lg;gl;Ls;sthW cUfpizg;gjdhYk; xU Nrh]; 

ghd; nra;ag;gl;Ls;sJ. Nrh]; ghdpd; GtpaPh;g;G ikaj;jpd; mikitf; fhz;f.   
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                             Structure of Question Papers and Prototype questions for G.C.E.(A.L.) Examination - 2019 Onwards - Combined Mathematics 

15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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  mid-point of AB and  is in equilibrium with the 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 

apart, from the centre of its smaller rim, is ÷
ø
ö

ç
è
æ

+
+
1
12

3 l
lh

.  

 
A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 

  
 
 

C  

W  

B  

a5  

A  a3  

D  P  

and 

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 

apart, from the centre of its smaller rim, is ÷
ø
ö

ç
è
æ

+
+
1
12

3 l
lh

.  

 
A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 

  
 
 

C  

W  

B  

a5  

A  a3  

D  P  

  It carries a weight W at the joint C and equilibrium is maintained 

  with AB and DC horizontal and BD vertical by a horizontal force P 

  applied along CD at the joint D. Find P in terms of W.

  Sketch a stress diagram using Bow’s notation and hence find the 

  stresses in all the rods. State whether these are tensions or thrusts.
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along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 

apart, from the centre of its smaller rim, is ÷
ø
ö

ç
è
æ

+
+
1
12

3 l
lh

.  

 
A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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	 A saucepan is made by fastening the edge of a thin uniform circular  

 plate of radius a having a surface density σ to the smaller circular

 rim of a frustum of height 3a of a hollow right circular  cone with 

 circular rims of radii a and 5a having the same surface density σ,

 and fastening a thin uniform rod AB of length 4a and linear density 

 ρ to the larger rim of the frustum such that the points O, A and	are collinear, where O is the 

 centre of the larger rim of the frustum, as shown in the figure. Find the position of the centre of 

 gravity of the saucepan. 

	 Show that if ρ
σ < 31

24
πa , then the saucepan can stay is equilibrium when placed on a

 horizontal table with its bottom touching it. 

	 It is given that ρ = πaσ. Find the angle BA makes with the downward vertical when the 

 saucepan is suspended freely from the end B'	

 vdpd;> Nrh]; ghd; xU fpil Nkir kPJ mjd; mbj;jsk; njhLifAkhW 

	 itf;fg;gl;lNghJ ehg;gj;jpy; ,Uf;fyhnkdf; fhl;Lf.
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15. (a) The figure represents a frame in the form of a pentagon

 (b) A system of three forces in the 0xy-plane act at the points indicated below: 

 

Point   Position Vector  Force 

      A   jaia 52 +    jFiF 3+  

     B           ja4           jFiF -- 2  

      C   jaia +-    jFiF 2-  

       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 

respectively. Mark these forces in a single diagram, and show that their vector sum is 

zero. 

 Find the anti-clockwise moment,  G, of the system about a point  P with position vector  

 jyix +  , and  show that G is independent of  x and y.  Identify the simple system to 

which the given system reduces. 

 An additional force is now applied at the point D with position vector  j
a

d
2
5

-= . 

 Obtain the resultant of the four forces acting at A, B, C  and D , in magnitude, direction 

and line of action. 

15. (a) The figure represents a pentagon ABCDE formed of freely jointed uniform rods whose 

weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 

at  A, B  and  D are !120  each. The uppermost rod AB is fixed horizontally and the frame 

hangs in equilibrium, the symmetrical shape being maintained by a light rod CE of length 

32b  connecting the joints C and E. Show that the reaction at the joint D is of magnitude

wb 3  and find the thrust in the light rod CE. 
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  ABCDE formed of five uniform rods of weight w

  per unit length jointed at their ends. 
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. The angles at vertices A, B  and  D

  are  120° each. The frame is suspended from the 

  mid-point of AB and  is in equilibrium with the 

  symmetrical shape maintained by a light rod CE of length 
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       Here i and j  denote unit vectors in the positive directions of coordinate axes Ox and Oy, 

respectively, and F, a are positive quantities measured in newtons and metres 
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zero. 
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weight is w per unit length. Length aBCAE 2== , length bCDED 2==  and the angles 
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and find the thrust in the light rod CE. 
             

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  

 

 

 

 

 

 

 

16. Show, by integration, that the distance of the centre of gravity of a frustum of a uniform 
hollow right circular cone with circular rims having radii  r and )1( >ll r  at a distance h 

apart, from the centre of its smaller rim, is ÷
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A measuring can M is made by welding a frustum of a hollow cone with circular rims of radii 

a and 2a and height 
4
3a

 to a frustum of a hollow cone with circular rims of radii a and 4a 

and height 
4
9a

 along the common circular rims of radius a such that the axes of symmetry of 

the two frustums coincide (as shown in the figure) , and a circular base of radius 4a along the 
circular rim of radius 4a. The can is made of the same uniform material.   

     Show that the centre of gravity of M is at a distance  …………………….. 
      from the centre of the circular base of radius 4a .  

 
     The can is smoothly pivoted at a point on its upper rim to a fixed point O. Show that the of its 

axis of symmetry makes an angle                               with the downward  vertical. 
 

     Also, find the of the horizontal force that should be applied at the point on the edge of the 
base in the plane through the point O and the axis of symmetry to make the axis vertical. 
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maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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base in the plane through the point O and the axis of symmetry to make the axis vertical. 

  
 
 

C  

W  

B  

a5  

A  a3  

D  P  

and 

  

 (b) The figure represents a framework of  light rods  AB, BC, CD, DA and DB freely jointed at 
their ends, and movable in a vertical plane about the joint A.  Length aCDAB 3== ,   

       length aDABC 5==  and aDB 4= . It carries a weight W at the joint C and equilibrium is 
maintained with AB and DC horizontal and BD vertical by a horizontal force P applied 
along CD at the joint D. Sketch a stress diagram using Bow’s notation and hence find the 
stresses in all the rods. State whether these are tensions or thrusts.  
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  It carries a weight W at the joint C and equilibrium is maintained 

  with AB and DC horizontal and BD vertical by a horizontal force P 

  applied along CD at the joint D. Find P in terms of W.

  Sketch a stress diagram using Bow’s notation and hence find the 

  stresses in all the rods. State whether these are tensions or thrusts.
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	 A saucepan is made by fastening the edge of a thin uniform circular  

 plate of radius a having a surface density σ to the smaller circular

 rim of a frustum of height 3a of a hollow right circular  cone with 

 circular rims of radii a and 5a having the same surface density σ,

 and fastening a thin uniform rod AB of length 4a and linear density 

 ρ to the larger rim of the frustum such that the points O, A and	are collinear, where O is the 

 centre of the larger rim of the frustum, as shown in the figure. Find the position of the centre of 

 gravity of the saucepan. 

	 Show that if ρ
σ < 31

24
πa , then the saucepan can stay is equilibrium when placed on a

 horizontal table with its bottom touching it. 

	 It is given that ρ = πaσ. Find the angle BA makes with the downward vertical when the 

 saucepan is suspended freely from the end B'	

 vdj; jug;gl;Ls;sJ. Nrh]; ghid Kid B  ,ypUe;J RahjPdkhfj; 

	 njhq;ftpLk;NghJ BA MdJ fPo;Kf epiyf;Fj;Jld; Mf;Fk; Nfhzj;ijAk; fhz;f. 

	 	 	

17.(a)		 xU ngl;bapy; epwk; jtpur; ru;trkkhd MW rptg;Gg; ge;JfSk; %d;W gr;irg; ge;JfSk; 

%d;W ePyg; ge;JfSk; cs;sd. xU ge;J vOkhw;whfg; ngl;bapypUe;J ntspNa 

vLf;fg;gLfpd;wJ. ge;J ePyg; ge;jhf ,Ug;gjw;fhd epfo;jfitf; fhz;f. ntspNa 

vLf;fg;gLk; ge;J gr;irg; ge;jhf my;yJ rptg;Gg; ge;jhf ,Ug;gpd;> Nkyjpfkhf 

xU rptg;Gg; ge;Jk; Nkyjpfkhf xU ePyg; ge;Jk; njhlf;fg; ge;Jld; ngl;bapy; 

Nru;f;fg;gLfpd;wd. ntspNa vLf;fg;gLk; ge;J ePyg; ge;jhf ,Ug;gpd;> gpujpitg;G ,y;iy.
	
		  ,g;NghJ Xu; ,uz;lhk; ge;J  ngl;bapypUe;J vOkhw;whf ntspNa vLf;fg;gLfpd;wJ. 

ntspNa vLf;fg;gLk; ,uz;lhk; ge;J ePyg; ge;jhf ,Ug;gjw;fhd epfo;jfT ahJ?
	
		  ntspNa vLf;fg;gLk; ,uz;lhk; ge;J ePyg; ge;J vdj; jug;gl;bUg;gpd;> ntspNa 

		  vLf;fg;gLk; Kjw; ge;J ePyg; ge;jhf ,Ug;gjw;fhd epfo;jfitf; fhz;f.

     (b)	 xU guPl;irapy; 100 khztu;fs; ngw;w Gs;spfs; gpd;tUk; ml;ltizapy; jug;gl;Ls;sd.

   		

Gs;spfs; 5 - 19 20 - 34 35 - 49 50 - 64 65 - 79 80 - 94

eLg; Gs;sp (xi) 12 27 42 57 72 87

kPbwd; (fi) 10 20 30 15 15 10

cUkhw;wk; 
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17. (a)  A box contains six red balls, three green balls and three blue balls, which are identical except 
   for colour. A ball is drawn at random. Find the probability that the ball is blue. If the ball drawn 
   is either green or red, one additional red ball and one additional blue ball are added to the box, 
   together with the original ball. If the ball drawn is blue, there is no replacement.

   Now, a second ball is drawn from the box at random. What is the probability that the second 
   ball drawn is blue? 
   Find the probability that the first ball drawn is a blue one, given that the second ball drawn is a
   blue one.

    (b)  Marks obtained by 100 students in an examination are given in the following table.  

     

Marks 5 - 19 20 - 34 35 - 49 50 - 64 65 - 79 80 - 94

Mid point (x
i
) 12 27 42 57 72 87

Frequency (f
i
) 10 20 30 15 15 10

  

  Using the transformation 

Now, a second ball is drawn at random. What is the probability, the second ball drawn is 
blue?  
Find the probability that the first ball drawn is blue, given that the second ball drawn is blue. 
 

(b) Marks obtained by 100 students in an examination are given in the following table  

Marks              10-19          20-29      30-39  40-49       50-59  60-69          70-79 

Mid Point )( ix    15      25         35    45          55    65  75 

Frequency )( if    15  25         20    15          15    08  02 

Using the transformation ( )45
10
1

-= ii xy , estimate the mean and the standard deviation of 

this distribution of marks.  

The mean and the standard deviation of marks obtained by another 100 students in the same 

examination are 40 and 15, respectively. Estimate the mean and the standard deviation of the 

marks obtained by all 200 students in this examination. 

 

 1
15

(x
i  
− 42),  estimate the mean and the variance of this 

  distribution of marks. 

  The mean and the standard deviation of marks obtained by another 100 students in the same 
  examination are 40 and 15, respectively. Estimate the mean and the variance of the marks 
  obtained by all 200 students in this examination.

*  *  * 

 Ig; gad;gLj;jp ,g;Gs;spg; guk;gypd; ,iliaAk; 

khww;wpwidAk; kjpg;gpLf. 

		  NtW 100 khztu;fSk; ,Nj guPl;irapy; ngw;w Gs;spfspd; ,ilAk; khww;wpwDk; 

		  KiwNa 40, 15 MFk;. ,g;guPl;irapy; nkhj;j 200 khztu;fSk; ngw;w Gs;spfspd; 		

		  ,iliaAk; khww;wpwidAk; kjpg;gpLf. 

*  *  * 


